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Il Semester 3 Year LL.B./ V Semester 5 Year B.A. LL.B. (Maj.-Min.System)/
B.B.A. LL.B/B.Com. LL.B. (Even Sem.) Examination, August/September 2024
CONTRACT - Il (Special Contract)

Duration : 3 Hours Max. Marks : 80
Instructions : 1. Answer all five Units. )

2. One essay question and one short note/problem is
compulsory from each Unit.

3. Figures to the right indicate marks.

4. Answer to be written either in English or Kannada
completely.

UNIT =1

Q. No. 1. a) Define contract of guarantee. State the distinction between
contract of guarantee and contract of indemnity. Marks : 10
PAVEROTOOE F00R) AN, TRETOT 3T B

SRPEF Fdne ST BHS FANIS), 9

OR/em=
Explain the rights of surety. Marks : 10
WAEDTTT FHNIRY, D[OA.

Q. No. 1. b) Write a short note on contract of indemnity. Marks : 6

SRS O DO OF S5yiNviovste)

OR/egm
Write a short note on discharge of surety from liability. Marks : 6
2PO0ERTTT BRBMWOTONT DBVFAD W OFTO  E3Ds
)Bo0.

UNIT =1l

Q. No. 2. a) What is bailment ? Explain important features of contract of
bailment with decided cases. Marks : 10

RITE 20T 7 VWO TE0D  OTEINIRY, AFTOF 03B
ZE0rndnonn DmoR.

OR/&5me

Define pledge. Explain the rights and duties of pawnee. Marks : 10
NODODH), e80,AR. NODWITS BE), =0Ty IBFHNTI) D[oR.
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Q. No. 2. b) Write short notes on right of lien of bailee. Marks : ¢

VBT TROFRRTTR 3003 e LTS w30
OR/eg=

‘A’ hires a carriage of ‘B’. The carriage is unsafe but ‘B" i&:.
not aware of it. ‘A’ is injured while using the carriage- Is B
liable to ‘A’ for injury ? Decide. Marks : 6

' & 10w mach) ‘v Rod war IAAERHTE. ¢
RO RCIIATOY, ©3 & aRoHig ' A FRTOY,
& TRBOLR) WUHdRNRTR ‘¢ A1t Moo ¢ A
U3 MODLE W B BesmomeriEsede ? AeaFoLA.

UNIT =1l

Q. No. 3. a) Explain the rights and duties of agent. Marks : 10
FIODFLTOOD Sﬁgmﬁo =08 a’:«ﬁrﬁér{%i QRO
OR/egm
What is agency by ratification ? Explain its essentials. Marks : 10

IS FTONFLRT 0B3E ? 903 eﬁde%s @oéﬁ@d&
QRO

Q. No. 3. b) Write a short note on undisclosed principal. Marks : 6
TTLES ODRRIRII Wi OPO LTS 2FoW0.

OR/egm

Write a short note on ‘Sub-agent’. Marks : 6
QU FIOKFIDOCD W WP ¥R 2030W0.

UNIT -1V

Q. No. 4. a) Define partnership. Explain the tests to determine the existence
of partnership. Marks : 10
TPOOTROFODT), TR, TWLIMWOECDH BRI MINERED
[T TOENIRY, DOR.
OR/&gme

Explain the modes and consequences of dissolution of partnership

firm. Marks : 10
TOOIMOOTD z)’oﬂ@odo NPUIOL TRNFND D) DTEI[JoD
TN, EIOR. =

e
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Q. No. 4. b) Write a short note on effect of non-registration of partnership
firm. Marks : 6

TOLOTHOTD :-doﬁ@om 2205303 RROTINF0T BOFFRONG B0
PO LT/ B,
OR/egwm

Write a note on partnership at will. Marks : 6
[ROES TLOMOBOD Wi 43S 2080200.

UNIT -V

Q. No. 5. a) Explain the maxim nemodat quod non habet and state the
exceptions if any. Marks : 10
“RROBOVTR> BRONR EREURTR" wow) BePFODRY, VB0
DY A, HWTECR WHWBNYES VA

OR/es@e
Explain the doctrine “Caveat Emptor” and state the exceptions
to it. Marks : 10
ém#g)ddﬁe azid 33 ,%m&oéddi WO WY @CS% lobTN]
STRTNER), 894 '
Q. No. 5. b) Write a short note on the Right of stoppage in transit. Marks : 6
SRNE abq%de?ﬁ 3@ROIVD 65% QT3 303D VHV wo—éfé
2B00.
OR/e3

‘A’ agrees to supply 100 tons of sugar to ‘B’. ‘A’ despatches
120 tons to ‘B’. ‘B’ refuses to receive sugar that ‘A’ has

supplied in excess. Advise ‘A’. Marks : 6
‘e’z 100 &3° #ﬁéd ‘0 AR WD BRBLD WRTOBS,

‘e 2 ‘e AR 120 8T AFT ROWTED BIRENT. TUR

,-‘o’éécfo:bsgt 20200050 RINRRT F0HNT ‘W D & 73%603352(

%, EBOREL) Q0EORIZIS. ‘@ AR ROT e,
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